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SR(X,) = 4,860.26, S
SSE(X

SR(X1]X2) = 3.806.04, SSR(X3| Xy, X|) = 364.16,
Xy Xa) = 4, 24884 df: 1,1, 1, 42

b, Ho: 83=0, Hy: 33 # 0. SSR(X3] X, Xo) = 364.16, SSE(X,, Xa, X3) =4,248.84,
F* = (364.16/1)+(4,248.84/42) = 3.5997, F'(.975; 1, -12) 5.4039. If F'* < 5.4039
conclude Hy, otherwise H, . Conclude Hy. P-value = 0.065.

Hy: 3y = 33 = 0. H,: not both
S‘S‘E(X X
0327. If F*

3y and 3 0. SSR(Xs, X3l Xy)
4,248.84, F* = (845.07/2)+(4,248.84/42) = 4.1768, F( ¢
327 conclude Hy. otherwise H,. Conclude H,. P-value





[image: image2.png]79.  Hy By =—10, 5, =0; H,: not both equalities hold. Full model: Y; = 5y + 5, X;; +
BoXio + 33X + ;. reduced model: Y; + X = Gy + 53X + 2. SSE(F) = 4,248.84,
dfp =42, SSE(R) = 4.427.7, dfp = 44, F* = [(4427.7—4248.84) /2] + (4. 248.84/42) =
8840, F(.975:2,42) = 4.0327. If F* < 4.0327 conclude Hy, otherwise H,. Conclude
Hy.





[image: image3.png]TA4 a. RE, = 6190, RY,, = 4579, R}, = 4021
b, Ry, =.3635, R{y, = .0044, R, = 0180




[image: image4.png]718 a. Y'=—59067X] —.11062.X; — .23393X;
b R%, = 32262, R%, = 32456, R%, = 44057

17.2365
c. sy = 17.2365. s; = 8.91809. s, = 4.31356. 53 = .29934, b, Lo )(—59()67) =

17.2365 170305 SO0
L4162, by = 222 11062) = —.44203, by = — 23393) = —13.47008
131356 /

; (-
by = 61.565241.14162(38.3913) 4.44203(50. 4348)413. 4/()()8(2 28696) = 158.4927





[image: image5.png]726, a. Y =156.672 — 1.26765.X, — 0.920788.X,
c. No. SSR(X,) = 8,275.3. SSR(X|X3) = 3.483.89
No, SSR(X,) = 4.860.26, SSR(X,|X3) = 708
d. 11y = 5680, 113 = 5697, 1oy = 6705





[image: image6.png]b.

SSR(X,) + SSR(Xa Xa| X)) + SSR(X4|X). Xo. Xa)
= SSR(X)) + [SSR(X). Xy, X3) — SSR(X))]
F[SSR(X,. Xy, Xo, X)) — SSR(X,. Xy Xy)]
= SSR(X,. X, X3 X))
ISR(Xy. X3) + SSR(X| Xy Xy) + SSR(X|X 1. Xo. X3)
SSR(Xy. Xa) + [SSR(X. Xp. X3) — SSR(X,. Xy)]
F[SSR(X), Xy, Xa Xy) — SSR(X,, Xy, Xa)] = SSR(X). Xy Xy X))

wn
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